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General Instructions :

(i) All questions are compulsory.

(i1) The question paper consists of 31 questions divided into five sections A, B, C, D and
E. Section-A comprises of 4 guestions of 1 mark each, Section-B comprises of 6
questions of 2 marks each, Section-C comprises of 8 questions of 3 marks each and
Section-D comprises of 10 questions of 4 marks each. Section E comprises of two
questions of 3 marks each and 1 question of 4 marks from Open Text theme.

(iii)  Thereis no overall choice.

(iv)  Use of calculator is not permitted.

@Ug-37 / SECTION-A

T AT 19 4 H T 11 R €
Question numbers 1 to 4 carry one mark each.

1 T THEHI I T IS0 AL FHH GAIGHTSS GiaC | 1

Construct a right angle and draw its bisector.

2 21 o, ol § weE W YO 1 em &, % Hord Weren! i et O S AT S R T 1

&1 A A RIS |
Two cubes of side 1 cm each are joined end to end. Find the volume of the cuboid so formed.

3 gerg : fawy el &1 |red 9a & | 1
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Find the mean of first six odd numbers. ;

4 12 At 6t g (Iuf #) FR G E 1
42, 48, 48, 50, 56, 43, 47, 56, 60, 65, 56, 65
Fgeh T RIS |
The ages (in years) of 12 persons are given below :
42, 48, 48, 50, 56, 43, 47, 56, 60, 65, 56, 65
Find the mode.

@us-d / SECTION-B

T T 5 9 10 9 AT & 2 & €
Question numbers 5 to 10 carry two marks each.

5 ABCD T& TAIR =gfs 2 o z@% fagw O wm wfe=e @ #1 a3k 2
ar(AAOD) =4 cm?2 8, Tl ar (AAOB) 9 FHIfST |

D C
A B
ABCD is parallelogram and O is the point of intersection of its diagonals. If ar (AAOD) = 4
cm?, find ar (AAOB).
D
O
A B

6 HITHEITF FT FEF 3, T GHaTg S &1 F101 G0 | Wk 1 Ferd § 38 gt #itwe) 2

Draw an angle of an equilateral triangle, using protractor. Bisect it using compass.

7 afe fohdt SqYS EFCH $ =10, T #I A S R7:3:4: 6 % o9 ¥ &, 9 EFGH f59 veR &1 2
g ® 3 =i 2

If the angles of a quadrilateral EFGH, taken in order, are in the ratio of
7:3:4:6, which type of quadrilateral is EFGH and why ?

8 T T T 0 I AAF 96 cm? ®, 1 39F1 A 6 i | 2
The total surface area of cube is 96 cm?, find the volume of cube.

9 el X % 50 ferenfifdl % ueh T 1 g1 T 990 ST wu XT 6 T w1 ue i I = 9 2
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Tlg,Eﬁﬁﬁﬁ";’fW@%:

il PCM |PCB |Fmd | wAfEH | Fm
ferenfefi =1 5@ | 19 8 11 12 50
Us faened arg=san 941 7 | Wil sifse for g0 ran faened -
() Toum g o AT R

(i)  FEH! SR S = e

A group of 50 students of Class X are selected and asked for their choice of subject to be taken
in Class XI, which is recorded as below :

Stream PCM | PCB | Comm | Humanities | Total
Number of students | 19 8 11 12 50
If a student is chosen at random, find the probability that he/she is :
(i) A student of science stream
(ii) A student of humanities stream
10 T faeem o SERae % WY 1500 91 39T S| 2
=1 : 655, 9 : 845
Uedeh "l & Yiigehd sAfehfcrd Fifaa |

A coin is tossed 1500 times with the following frequencies:
Head : 655, Tail : 845
Compute the probability for each event.

WUE-¥ / SECTION-C

7 HeA 11§ 18§ vds & 3 3 £
Question numbers 11 to 18 carry three marks each.

11 v 12 fawm wisa Sensii % A SR 91 99 wife | - 3
Find the mean and median of first 12 odd composite numbers.

12 e sitrei = fefua 0 + fo, & smaafas @ifaw | 3
e weted
(TH)

gfaen! &I TE 48 32 56 40 16

150-200 | 200-250 | 250-300 | 300-350 | 350-400

Draw a histogram to represent the following data :

Daily Wages (%) 150-200 | 200-250 | 250-300 | 300-350 | 350-400
No. of Workers 48 32 56 40 16

13 PQRS U% @9 ¢ fo@d PQ || SR &1 ST SR &I X T §6 YN @i 71 § ff RX=PQ & S| 3

g FIT & ar (APSQ) =ar (AQRX) T |
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X
PQRS is a trapezium with PQ || SR. Side SR is produced to X such that RX =PQ. Prove that ar
(APSQ) =ar éAQRX).

S R X

& g€ annfa #, AB 31k AC %= O 91t g 1 21 Siam, £ | afg ODLAB, OELAC 3 Z/DAE &1 3

AO THfgfsa w5t &, o fag #ifse i AADE uF amfzarg fs @ a1 ZABC = ZACB®|
A

In the given figure, AB and AC are two chords of a circle whose centre is O. If ODLAB,
OELAC Aand AO bisects ZDAE, prove that AADE is an isosceles triangle and ZABC= ZACB.

T 21T ST TR SR sE 9’ A 9§ fFuwfee FifSe ) vEE T am B mifhe ) =3
F 12 off fafE)

Draw an obtuse angle and divide it into four equal parts. Measure each equal part. Write
steps of construction.

o #; D, E 3R F %A% AABC # Y= AB, BC 2 AC % wmer-fig € 3
BA ¥ THiT CG €= T 8, S werE T DF #1 G W fierdt €1 fag #Ifsw fF ADEF = AFCG 71
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DN
NN

B E <
In the figure; D, E and F are the mid-points of sides AB, BC and AC of AABC respectively. CG

is drawn parallel to BA and meets DF produced in G. Prove that ADEF = AFCG.

B E &

17 APQR &1 ®10 Q T&hU &1 A 3t B ®a9: q=isii PQ 4 PR & #ea-fag ¥13fc PQ= 10em 3
#iN PR =26 cm &, 1 AB &1 @eTE S SHITST |

APQR is right angled at Q. A and B are the mid-points of sides PQ and PR respectively. If
PQ= 10 cm and PR =26 cm, then find the length of AB.

18 S 1 419 YLE & A F o UF SR g1 AR SAEdE] I g% SFmal § A79d Fd
Fife | ' :

The diameter of the moon is approximately one-fourth of the diameter of earth. Compare their
volumes and curved surface areas.

EUs-§ / SECTION-D

39 1199 28 F TS H 4 HFFH T |
Question numbers 19 to 28 carry four marks each.

19 T W Qe § Yo 1 AT i g (It 3) woaeT e 4
o (AW d) | 2125 |26-30 | 3135 |36-40 | 4145 |46-50
FATH | 70 e - (168 {30 |20 |15

g
9 feu o sen sl & fora g o 3t TReRdT Sgys SifaT |
Following is the distribution of ages (in years) of teachers teaching in a primary school :
Age (in vears) | 21-25 |26-30 |31-35 |36-40 |41-45 |46-50

No. of teacher | 70 110 165 320 200 135
Draw a histogram and frequency polygon to represent the given data.

20 ABCD % ®WiR =qds ¥ fou% ervam #E fdg P %1 39T % ar(AAPB)+ar(ACPD) 4
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=ar(ABPC) +ar(AAPD) B |

D

A

B

ABCD is a parallelogram and P is any point in its interior. Show that ar(AAPB)+ ar(ACPD)

=ar(ABPC) + ar(AAPD)

D

A

A aTF E, OFA T F2 AN LBCO=40°F | DO FRCEH AER A, A x, y Az 4

B

In the given figure, O is the centre of the circle and ZBCO=40". Find x, y and z, if DO and CE

are both Rerpendicular to AE.

T T S 5 T A, R SR 4 om 3R 0 o 31 97 1A 8 cm

z

F

Construct a right angle triangle whose base is 4 cm and sum of the hypotenuse and other side is 8 cm.

S #, PQRS T TR Jg4< &, ford A ot B Fuw: qeneli, QR iR Ps % wea-fig €1 PA 4

#ir RB famui Qs &1 HHW: D 3t ¢ W ufaede #4d €1 afc QS=12 cm & @ CD =i we8 1d

21
G HITT |
A
B
0
B E
e WS
22
23
HifeTu |
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Q
In the figure, PQRS is a parallelogram in which, A and B are the mid — points of sides QR and
PS respectively. PA and RB intersect diagonal QS at D and C respectively. If QS =12 cm, then

find ;he length of CD.
R

24 TF FREA 15 m X15 m X7 m H FeN W SR AFa fmewt e o4
75 cm 91 TETE 7 m 1 $3T eI FRd €| e &1 @ T 75/m3 fFEHA 3 FAER AFd F
3 il Gea &1 Freaa fan |
(a) <M FEnS! ¥ S GeaH 1 @ 7 HI

(b)  TEEm 1 e T Oem w5 Tt {w=%mmﬂm)

A farmer wants to dig a well either in the form of cuboidal shape of
1.5 mx1.5 mx7 m or in the cylindrical shape of radius 75 cm and height 7 m. The rate of digging a

22
wellis T 75/m?3. The farmer decided to dig cylindrical form of well. (Use 7= i )
(a) Calculate the cost to dig the well in both cases.

(b) By the decision what value is depicted by the farmer ? (Use 7= %}

25 TF 5 1 AT 5832 m3 €1 39 QYU Y=g &k H T 7 ST 10 m2 G W T F AT I 4

I |
Volume of a cube is 5832 m3. Find the cost of painting its total surface area at the rate of T 7
per 10 m2.

26 T AYTEFR F0 1 591100 cm &1 59! fohaq fofet UFl &1 &War 87 361 9% 7= 4
&IThel I I i | ' '

How many litres of water will a hemispherical bowl of radius 100 cm contain and find its
curved surface area ?

27 U HE #! YUY F EE 7 m, SE AM 4.4 cm SR Y H HRZE 2 mm 81 HH 9 TOE 4
&7 R 9T [ FHITC ol 1 cm? T H1 9R 11 TH B

Find the inner curved surface area and weight of a lead pipe 7 m long, if the external diameter
of the pipe is 4.4 cm and the thickness of the lead is 2 mm and 1 cubic cm of lead weighs 11
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FH1 IX % & Al % 30-30 ferensff wfore siferfirare & 343 1 5% gR7 W S 39 wHRE - 4
46, 31, 74, 68, 42, 54, 14, 61, 83, 48, 37, 26, 8, 64, 57,

93,72, 53, 59, 38, 16, 88, 75, 56, 46, 66, 45, 61, 54, 27,

27, 44, 63, 58, 43, 81, 64, 67, 36, 49, 50, 76, 38, 47, 55,

77,62, 53,40, 71, 60, 58, 45, 42, 34, 46, 40, 59, 42, 29,

T 4 U foanefl g=san g | Wi 99w B o9 il ¥ s

() 599 e ¥

(i) 49 ¥ 31f® Wa 1009 w9 &

Two sections of Class IX having 30 students each appeared for mathematics Olympiad. The
marks obtained by them are shown below:

(g, Q:%)@ 42, 54,14, 48, 37,26, 8,63 57,.
32) 53, @) 38, 16,88, 56, 46,64, 45, €): 54, 27,
27, 44,63, 58, 43 36,49, 50,78, 38, 47, 55,

@653, 40,@}%. , 42, 34, 46, 40, 59, 42, 29,

A student is selected at random. Find the probability that student selected from the class is:
(i) having marks more than 59
(i)  having marks more than 49 but less then 100

EUug-4 / SECTION-E

(=T 9T5/Open Text)
g giiivwa ot @ 6 swdw fawa @1 qEa wermmmR T8 were & wry g )

(* Please ensure that open text of the given theme is supplied with this question paper.)
fawa . 9Ra ¥ siegEen ¥ gl
Theme : Childhood Obesity in India

T AR F BT B 'y HIE 791 G5 Bl 2 WH O FF G S 6 BMI 2581 w3
T erfeg g LIEEG]) 2

Assuming 'x' metres as the height of a person and y? is the weight of a person if BMI is 25
frame linear equation. Does this line passes through origin ?

FITH T ST Tl F FET W G F1 O TG @A 6K 200 mL Femdt s9 W Sad 3
aﬁwﬁ%mmﬁaﬁamar@qﬁlaﬁfﬂmaﬂtmﬁﬁ@ﬁﬁwﬁaﬁm%ﬁﬁ
TR % ®Y H fafag

Kritika atc 1 slice of pizza and drunk 200 mL cola on her friend's birthday party. Then she
burnt her intake calories by bicycling and jumping rope. Express the burnt calories by
bicycling and jumping rope in the form of linear equation.

T A T H oy T Sy wem w2000 S ST €1 T o T e s 4
fafay i smerg Fifaw

A person takes 2000 calories in a party, he eats 'z pastries and 'y' samosa. Write a linear
equation for the same and draw the graph
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